2 For each of the following tables determine whether the paired values (x, y) would, if graphed,
give points that lie in a straight line. For those that do determine the equation of the straight line.
(You should be able to do this question from the tables and should not need to plot the points.)

a &7 1 2 3 -+ 5 6 b X 1 /2 3 - 5 6
7 9 11 13 15 17 y -2 3 8 13 18 23

C 1 2 3 4 5 6 d X 1 2 3 4 5 6
0 1 3 6 108 15 =3t | =2 | =il 0 1 2

e x 0 1 2 3 4 5 £ 57 0 1 2 3 4 5
y 10 8 6 -+ 0 y 5 5 5 5 5 5

g % 1 6 2 5 h X 4 2 1 6 3 5
9 168 RE9N 1B (=) =3 | <3 | 1% 2 12

Answer:

2 a Points lie in a straight line.
Equation of line is y = 2x + 5.

b Points lie in a straight line.
Equation of line is y = 5x - 7.

¢ Points do not lie in a straight line.

d Points lie in a straight line.
Equation of lineisy =x— 4.

e Points lie in a straight line.
Equation of line is y = —2x + 10.

f Points lie in a straight line.
Equation of lineis y = 5.

g Points do not lie in a straight line.

h Points lie in a straight line.
Equation of line is y = 5x — 13.



Questions

For each of the tables shown in questions 1 to 12, by considering difference patterns, determine
whether the relationship between x and y is linear, quadratic or neither of these. For those relationships
that are either linear or quadratic determine the rule.
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a Copy and complete the table shown below for the pattern shown above.

b  Use difference patterns to determine whether the relationship between L and # is linear,
quadratic or neither of these.

¢ Iflinear or quadratic, determine the rule.

14

§

a Copy and complete the table shown below for the pattern shown abeve.

1 3 6

b  Use difference patterns to determine whether the relationship between 7 and # is linear,
quadratic or neither of these.

¢ Iflinear or quadratic, determine the rule.



Answers

VWO NOGOURAON=-

4 a
1 2 3 4 5§
— I

Quadratic. y =2 + 6x + 5
Neither.

Quadratic.y =#? +x +3
Linear. y = 5x + 1
Quadratic. y = x* +2
Linear.y=mx+ 7

Neither.

Quadratic. y = 2" + 5x + 4
Linear. y = 8x + 3
Quadratic. y = 247 +3
Quadratic. y = 3(x - 2)* + 1
Quadratic. y = —(x — 35

a
213 |45 )| E
-6

241154 96 |[150! 216

b Quadratic ¢ n=6L°

6 10 15

b Quadratic ¢ n=0.57+0.5r
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